
(𝐴 ∩ 𝐵)´ = 𝐴´ ∪ 𝐵´

(𝐴 ∪ 𝐵)´ = 𝐴´ ∩ 𝐵´

দ্যা মরগ্যানের সূত্র (De Morgan’s Law): 



ধরর, x ∈ (𝐴 ∪ 𝐵)´

⇒ x ∉ (𝐴 ∪ 𝐵)

⇒ x ∉ 𝐴 এবং x ∉ 𝐵

⇒ x ∈ 𝐴´এবং x ∈ 𝐵´

⇒ x ∈ (𝐴´ ∩ 𝐵´)

∴ (𝐴 ∪ 𝐵)´ ⊆ (𝐴´ ∩ 𝐵´) …………………..(i)

আবার ধরর, x ∈ (𝐴´ ∩ 𝐵´)

⇒ x ∈ 𝐴´এবং x ∈ 𝐵´

⇒ x ∉ 𝐴 এবং x ∉ 𝐵

⇒ x ∉ (𝐴 ∪ 𝐵)

⇒ x ∈ (𝐴 ∪ 𝐵)´

…………………..(ii)

(i) ও (ii) হনে পাই, 

(𝐴 ∪ 𝐵)´ ⊆ (𝐴´ ∩ 𝐵´)

(𝐴´ ∩ 𝐵´) ⊆ (𝐴 ∪ 𝐵)´

∴



ধরর, x ∈ (𝐴 ∩ 𝐵)´

⇒ x ∉ (𝐴 ∩ 𝐵)

⇒ x ∉ 𝐴অথবা x ∉ 𝐵

⇒ x ∈ 𝐴´অথবা x ∈ 𝐵´

⇒ x ∈ (𝐴´ ∪ 𝐵´)

∴ (𝐴 ∩ 𝐵)´ ⊆ (𝐴´ ∪ 𝐵´) …………………..(i)

আবার ধরর, x ∈ (𝐴´ ∪ 𝐵´)

⇒ x ∈ 𝐴´অথবা x ∈ 𝐵´

⇒ x ∉ 𝐴অথবা x ∉ 𝐵

⇒ x ∉ (𝐴 ∩ 𝐵)

⇒ x ∈ (𝐴 ∩ 𝐵)´

…………………..(ii)

(i) ও (ii) হনে পাই, 

(𝐴 ∪ 𝐵)´ ⊆ (𝐴´ ∩ 𝐵´)

(𝐴´ ∩ 𝐵´) ⊆ (𝐴 ∪ 𝐵)´

∴
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